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Time : 3Hrs. Sem - VI - Ag Engg.

A. & E. Service

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4 marks.

Answer all Five questions from Group C, each question 

carries 8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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8.

9.

OT6013 OT6013

Old Syllabus

Describe the principles of working of threshing 

equipments.

What is sprayer ? Describe in brief about the 

working principles of power sprayer.

bund and a graded bund ?
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OR
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

GROUP - A

Velocity of water flow can be measured by

(a) Current meter

(b) Float meter

(c) (a) and (b) both

(d)  Orifice

Weir is used to measure

(a) Rate of flow

(b) Power

(c) Pressure

(d) Both (a) and (b)

7.

8

16604

OR

                 GROUP  - C

8 x 5 = 40
Answer all Five Questions.

What is soil erosion ? Comparison between 

geological erosion and accelerated erosion.

Write in short about the secondary tillage 

implements.
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(iii)

(iv)

(iii)

(ii)OR

6.

(a) Rice

(b) Wheat

(c) Both (a) and (b)

(d) None of these

(a) Row crops

(b) Fruits

(c) Vegetables

(d) Close-growing crops

Write differences between sprayer and duster.

Write down advantages and disadvantages of

drip irrigation system.

Write the purpose of sprayer.

What is sprinkler irrigation ? Enlist the components 

of sprinkler irrigation system.
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(iv)

(v)

(v)

(vi)

OR

OR

(a) Big Horse Power

(b) Brake Handle Power

(c) Brake Horse Power

(d) Biggest Horse Power

BHP 

(a) Steady discharge

(b) Unsteady discharge

(c) Variable discharge

(d) None of these

Write the objective of primary tillage

Write down the effects of soil erosion.

Write down in brief scope of Farm Mechanisation.

 suitable ?
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(vii)

(vii)

(viii)

(vi)(xx)

Under ground pipelines may be made of

(a) Concrete

(b) Reinforced concrete

(c) PVC

(d) Either of concrete, reinforced concrete 

      or PVC

(a) 1 : 4

(b) 4 : 1

(c) 1 : 2

(d) 2 : 1
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Answer all Five Questions.
4 x 5 = 20

2. Write down the causes of soil erosion.

4
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(viii)

(ix)

(ix)

about

(a) 0.2 ha / day

(b) 0.3 ha / day

(c) 0.4 ha / day

(d) 0.5 ha /day

(a) 1910 - 1914

(b) 1915 - 1919

(c) 1920 - 1924

(d) 1936 - 1937

by

(a) Bunds

(b) Terraces

(c) Bund and Terraces

(d) Mulching

(a) Slow process

(b) Fast process

(c) Natural process

(d) Both (a) and (c)
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(x)
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(xix)

(xix)

(xx)
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A full form of DDT is

(a) Dichloro diphenyl trichloro ethane

(b) Trichloro diphenyl trichloro ethane

(c) Diphenyl trichloro ethane

(d) None

(a) Orchards

(b) Residential buildings

(c) Paddy

(d) None

thresher is about

 (a) 3 hp

(b) 4.5 hp

(c) 5 hp

(d) 7.5 hp

performed with the

(a) Combine

(b) Reaper

(c) Seythe

(d) Sickle

(xi)

(xi)

(xii)

(x)
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(xvii)

(xvii)

(xviii)

(xvi)
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The share is usually made of

(a) Carbon steel

(b) Soft centered steel

(c) Cast Iron

(d) All of these

about.

(a) 800 hrs

(b) 900 hrs

(c) 1000 hrs

(d) 1200 hrs

Duster is used to apply insecticides in form 
of ...........
(a) Dust
(b) Liquid
(c) Granular dust
(d) Coarse granule

implement ?
(a) M.B. Plough
(b) Disc Plough
(c) Sub Soiler
(d) All of these

(xiv)

(xv)

(xv)

(xiv)

(xii)

(xiii)

(xiii)
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11.

8

P.T.O

10.

OT6013

OR

Write the utility and function of a power tiller.

controlling soil erosion.

Define seed processing. What are the important 

seed processing unit operations ?

OR

8
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11.
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OR

Write the utility and function of a power tiller.

controlling soil erosion.

Define seed processing. What are the important 

seed processing unit operations ?

OR

8
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